1. 96 H(1)

QA =78k [ 2000 X1AKR] BMF—2 8F—2 Faft- ek Fak-#E - (LEL- B CATA-Fr /L R—L

BRI RO *FH &

ARG/ MEBG TV Y — 7 % OIS A%
== NolZ' 7K No2Z7 7K
<F—R—60 HR/X> <A —R—B0 />
%—l%t/a\ 1330 ~
13:55 % (22) —  4hE(10),/HIB®G) B E(26) —  RE315)/ 1LEE)
moster | YOS A1) — EEE) H(15) — B9 HEO)
meptaer | Y0 T HED — FE(12) FeK(12) AL HRO)
mame | 127007 (15 — HE1D) AT I Y
Moo REEEE AP ATA =a—dry
18:00% B H 2 £ ATFN ma—ABY
2.9 7H(H)
D AHEE (RZFEE)  [204 X AAKR] 10F—2 Rt fhsk- FEa- £ -5 (LB F18 - k7 - B - 7 2%
== NolZ' K No2Z7 7K
misa | V%%, R — s #8 — et
moster | V00 os i — et e — 5
st ey b 10:00 ~ . . o . _—
FH3RE 10:25 BB WA B 5 X
<F—R—70 Hr> <F—R—60 N>
mama | 1090 R (10) /% (1) QDM 1)/ ‘ .
10:55 I X _ sl =] < 5l N _ 5 K
/B0 F) /ey iEe) | TR RN
<F—s3—60 FRN >
/‘l‘h‘5§i/4\ 11:00 ~ Aﬁy _ B
AIORE 11:25 s A FA9/KE)/EG) —  F6)/)
<A —sN—60 RS>
wesa | 1180 [Li% — sk B
a4 H 11:55 B (23)/#3)/1uG)  — F(16)/4h(11)
<F—s"—60 FEX >
/rh—7%tA 12:00 ~ i'?f _ e b
AR 12:25 i I REAG)/BEAD) —  H19/KG)IEG)
mraepa | 12:30 ~ _ I . _ \
BIETIN O s WA P Rk RS
SN 13:00 ~ . . o . .
HORD 0 s E — e B RS
moske| 12807 ok — #E L% — P

13:55




